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¥ 325 MY (LSS /LEEE)
el gFes 2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
IS 469,059 476,357 AT,298
IF2S A(LEsSYE/Leray) 324,706 329,636 24,930
g2 2cd 243,986 248,916 4,930
S At2te] 20,500 25,500 /5,000
201 fer= 3| 5,500 5,500 0
02 S3=gHl 5,500 5,500 0
OZE =Xl&eld| 1,500,000 *14] 1,500
Oxt2 K| 2,000, 000! +1CH 2,000
oYLl 2 JHl |XB2Y)
200,000 +55 1,000
O=SXIXH(HIIX) 2tel23]
1,000,000 *14] 1,000
401 AIEHIZ SR 0HYI 15,000 20,000 25,000
01 Al&HI 15,000 20,000 25,000
OF A ZOHR! SHEA 2= ZAb
7,000,000 14 7,000
OFAL ALUHTHAIE SAL
8,000,000& *14] 8,000
PaAsE 12,8%6 12,948 AB2
101 21AH| 8,624 8,588 36
04 JIZtN2Z2XNSE+ 8,624 8,588 36
OotAgS el=
80,2402 x2EH » 12 +502] 8,024
OstAgS 22X 4UHEES
300,000 x2&H 600
206 M=l 3,472 4,360 888
01 M=4l 3,472 4,360 888
OdtAgS FFU 3,472
—3E= 1,680 *400 £ 672
—EHAH| 3,500 +800 £ 2,800
405 AHaHE = 800 800
01 It =S F = 800 800
oggE ~=)| ¢ 800,000 1CH 800
2otsS FAlZcl 7,200 6,840 360
201 er2 3| 7,200 6,840 360
02 S3=gHl 7,200 6,840 360
O=Eets cld 60,0002 *300CH*40/100 7,200
SHECCTVR A2 1,040 1,040
201 2= 1,040 1,040
2 S22l 1,040 1,040
ogds v 8JIk=
5,000 * 1300 A+ 1204 780
OogdE IV =2+
50,0002 *13JH 2+40/100 260
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el gFes 2l EER=E)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
=E3T3 MY 16,264 15,606 658
101 @124H| 10,914 10,256 658
M ORNZZE2NSE S 10,914 10,256 658
OAIDHAI 212 FH| 12
80,2403 2 +5 2 *42| 3,210
O=ESHSAY 212
80,2402 «6EH x4 L +43] 7,704
201 er=3| 1,350 1,350
01 At22telt] 1,350 1,350
OJt2IIN S ZUIR
50,000& 102 500
OARE JIAH =2l
50,0008 *22]*25 200
OFZ ¢ S UYL
100,000 *22] 200
OJt=271 AU wH
5,000 3007130/ 100 450
206 M=l 4,000 4,000
01 MZH| 4,000 4,000
Oz & A3 £&F 22| 300
— S SOy M 2L
10,0002 %105 100
—&lHl & Hg 7
5,000 * 10X +22] 100
—HY=T S 7Y
5,000 x65*43] 100
OMEMY Z2Zxd € 2c| 700
~-2Z%, 2% S 7
100,000& 2522 400
—ESHSH M P
10,0002 105 100
—SlHl % HIg P
5,000 *x20 X *23] 200
OSMS SMYUE CHEM ZUS 2
10,0002 x3002 3,000
=28 FOUXXNHH 29 6,480 8,240 A1,760
201 Ler23| 6.480 6.240 240
01 At2teltl 2,400 2,400 0
Odgt+==H| 2,400
—FUNKEH 225 78 2
200,000 * 122 2,400
02 S52g4l 4,080 3,840 240
O=32= & HAl 4,080
—es, 282 2
340,000 x 122 4,080
QXA Jlet4 et 179,606 178,742 864
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el gFes 2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 179,606 178,742 864
07 EF 01T - HERES2AD 171,830 171,830 0
Osz+Y 165,880
—Jlzay 40,0002 #2624 1224 124,800
— 4012 400, 00024 +262 <200% 20,800
—slolE ALY
20,0003 x26F 22|« 12& 12,480
— Sl 25,0008 x26EH « 12 7,800
ogtd=g 50,0002 119 5,950
11 #AIAHIXIE S 7,776 6,912 864
OSEg& E9| & 3o FAL sS4
9,000 *728 12 7,776
a2 FEIEAAY 80,720 80,720 0
A2 FRIEHAANY 80,720 80,720 0
401 Al HIZL 01| 80,720 80,720 0
01 Al&H| 80,000 80,000 0
OArR FLUEHAAS 80,000
—17Z =2 &bl SAt
100,000 *100m 10,000
—2U A72 E2 B+ & FH|
2,000,000 * 1004 2~ 20,000
— B XIeITEH 2227
2,000,000 *57H 2~ 10,000
—NEML HEALD AL (ZY) &X
20,000,000 * 14 20,000
—NEHY X 2FX FHI
10,000,000 x23] 20,000
03 Al 20HHI 720 720 0
OARD ZOIBOIAY AlERH
720,000 *14] 720
AY 2 FHI(SF23)(OIEHIIE 144,353 146,721 N2,368
elgE3 50,121 48,899 1,222
elIg =3 50,121 48,899 1,222
101 @124H| 50,121 48,899 1,222
01 &4 50, 121 48,899 1,022
OAIZIRIRR4E
11,6022+ 102 +36Al 2+ 123 50,121
JlI=2dsl 94,232 97,822 A3,590
Jl=23H] 94,232 97,822 A3,590
201 fer23y| 46,752 48,522 A1,770
01 AtR2t2|HI 28,240 30,610 2,370
OSAEAl 7Y
20,0002 x 118t A% 123 2,640
OS20HAlI 9,000 x5A1x 11 * 122 5,940
Ooggte=g 100,000& « 12& 1,200
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RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OAn2 BN 50,000 * 123 600
OL7A2 4| 5,020
—=A| =2 500,000 *1CH 500
—ZElH =2 100,000 *2CH*50/100 100
—=ADI EY 200, 00021 #5314 1,000
— IRl El(SH)
200,000 x52|*2CH 2,000
—ZElH EU(Zd)
200,000 »3=2|*1CH 600
—PC #=cl 100,000 *11CH*20/100 220
—JIEt ==ClHl 50,000 * 123 600
OJIE M2l
10,0008 +1125 12 1,320
Og - =&H| 11,520
—2 60,0002 x1& %19 1,140
— =X (THeH) 30,0002 %1346 10,380
02 S3=gl 18,512 17,912 600
02323 2 HA 18,512
—REUR=S 135,000~ 128 1,620
—EAL &IIR3 650,000 122 7,800
—&ot=ER3 36,0002 * 1294 432
—HD| QEEY 448
10,0002 128 1,320
~H® 2YzR JIZS ®IIR3
100,000 »12& 1,200
—HE 23 AB $s BB AHURS
90,0002 128 1,080
~HE 2% AZH YT RALH
3,500,002 %141 3,500
—RuYs NER
10,0002 3012 360
~&0IXIE0ID| BIIR3
50,0002 ~2CH* 12 1,200
202 04| 35,640 36,960 1,320
01 =LHAHI 35,640 36,960 1,320
OOl 20,00021123 1221+ 12 31,680
OZ2|04H| 120,0003 x11H 3 3,960
203 2R =L 10,040 10,040
01 D22 HARFA| 6,600 6,600
OSF Jp2YYLEY
6,600,0002!+12 6,600
02 BRI LAY 440 440 0
OFBIYRETY| 40,00021+1124 440
MU FAZSLIFAI 3,000 3,000 0
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